
1 英語の問題冊子は14ページあり，問題は4問（解答番号は 1 ～

35 ）である。問題冊子の白紙・空白の部分は下書きに使用してよい。
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（例） 受験番号を記入し，さらにその
下のマーク欄にマークして下さい。2 別に解答用紙が1枚ある。受験番号欄に

受験番号5桁を記入し，マーク欄の該当す

るところをマークしなさい。

氏名を記入してはならない。なお，記入

した受験番号やマークが誤っている場合お

よび無記入の場合は，英語の試験が無効と

なる。

3 解答用紙に科目名を記入し，その科目コードをマークしなさい。

科目名
適性能力試験 数学Ⅰ・Ａ
英 語 生物基礎・生物
国 語 化学基礎・化学

物理基礎・物理

2021年度一般選抜試験問題

英 語

注 意 事 項

注意事項の続きは本冊子の裏にあります



� 次の英文を読み，各問いに答えなさい。
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nyushi
テキストボックス
















著作権の都合で開示できません



(https://www.bbc.com/worklife/article/20191023-what-will-japan-do-with-all-of- its-

empty-ghost-homes)
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nyushi
テキストボックス
















著作権の都合で開示できません



問1 空所（ 1 ），（ 2 ），（ 3 ）に入れるのに最も適切なものを，それぞ

れ下のａ～ｄから一つずつ選び，記号で答えなさい。

（ 1 ） 1

ａ after ｂ by

ｃ since ｄ while

（ 2 ） 2

ａ In effect ｂ On the contrary

ｃ For example ｄ By chance

（ 3 ） 3

ａ In a sense ｂ All at once

ｃ So far ｄ Once and for all
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問2 次の⑴～⑸について，本文の内容と一致するように，空所に入れるのに最も

適切なものを，それぞれ下のａ～ｄから一つずつ選び，記号で答えなさい。

⑴ According to this article, the death rate became（ ） than the

birth rate in Japan. 4

ａ less ｂ slower

ｃ lower ｄ higher

⑵ The problem of akiya is getting worse partly because relatives are

（ ） to inherit homes and partly because there are fewer citizens

overall to occupy them. 5

ａ angry ｂ pleased

ｃ reluctant ｄ grateful

⑶ Akiya are concentrated in rural areas because younger generations

prefer settling in cities to（ ）in rural areas. 6

ａ living ｂ prolonging

ｃ enjoying ｄ sustaining

⑷ Local councils are feeling pressure to make sure that the akiya don’t

become a（ ）when natural disasters occur. 7

ａ correspondence ｂ stress

ｃ burden ｄ message

⑸ Dr. Chie Nozawa asserts that solutions need to be（ ） to bring

in new generations, otherwise the akiya problem will only get worse.

8

ａ blamed on ｂ thought up

ｃ used up ｄ put off
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問3 下線部ア・イの表す内容として最も適切なものを，それぞれ下のａ～ｄから

一つずつ選び，記号で答えなさい。

ア 9

ａ 家に対する需要がすでに低い田舎では，空き家は少し価値があるけれど

も，地方自治体は空き家を引き受けたくないのだ。

ｂ 家に対する需要がすでに低い田舎では，空き家はほとんど価値がないの

で，地方自治体は空き家を引き受けたくないのだ。

ｃ 家に対する需要がすでに低い田舎では，空き家は少し価値があるけれど

も，不動産業者は空き家を引き受けたくないのだ。

ｄ 家に対する需要がすでに低い田舎では，空き家はほとんど価値がないの

で，不動産業者は空き家を引き受けたくないのだ。

イ 10

ａ 許可を得るべき所有者を特定できず，当該官庁は修繕を行ったり空き家

の多くを改築したりすることがたいていできていない。

ｂ 許可を得るべき所有者を特定できず，当該官庁は修繕を強制したり空き

家の多くを取り壊したりすることがたいていできていない。

ｃ 許可を得るべき所有者の権利をはく奪できず，当該官庁は修繕を行った

り空き家の多くを取り壊したりすることがたいていできていない。

ｄ 許可を得るべき所有者の権利をはく奪できず，当該官庁は修繕を強制し

たり空き家の多くを改築したりすることがたいていできていない。
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問4 次の1～5のうち，本文の内容に一致するものの組み合わせとして最も適切

なものを，下のａ～ｄから一つ選び，記号で答えなさい。 11

1．After having a sudden increase in trade and economic activity

throughout the 20th century, Japan is now having steep population

decline.

2．As populations fall in countries all over the world, the demand for

homes will fall as the number of households increases.

3．In some cases, even in the most remote areas, lack of interest means

that there are some estate agents to handle these akiya properties.

4．It is likely that most akiya are able to withstand typhoons and

earthquakes because they are around 30 or 40 years old and therefore

comparatively new.

5．In Okutama, if new tenants take on an akiya and can pay a small

amount of money every month for 15 years, they’ll get the akiya ’s title

as well as their monthly payment refunded.

ａ 2，3 ｂ 1，5 ｃ 1，4 ｄ 3，5
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� 次の対話文を読み，各問いに答えなさい。

George: Can you tell me a little bit about Japan, Makiko?

Makiko: Sure.（ 1 ）

George: First, I’m wondering what the population is.

Makiko: Well, I suppose it’s around 125 million, if I remember correctly.

George: So, Japan is a densely-populated country, right?

Makiko: Right. There are so many people living in this small country.

George: Another question. Do Japanese people sleep on the floor?（ 2 ）

Makiko: Yes. Especially a lot of elderly people sleep on futons on the floor.

But it is changing. Most young people prefer to sleep in beds, not

on the floor.

George: Oh, is that so? Well, a third question. I think most people commute

to work by train. So,
⑴

the trains are crammed like sardines, right?

Makiko: Right. You should avoid morning and evening rush hours.

George: I see. I hear station workers sometimes push people into the trains.

Makiko: I’m afraid so.（ 3 ）So, you don’t have to be worried about the

trains.

George: By the way, how about train service in the countryside?

Makiko: Well, only a few people take the train. There isn’t good service in

rural areas.

George: The final question. I hear Japanese society is becoming an aging one

with a falling birth rate.

Makiko: That’s right.（ 4 ）

George: Some European countries are confronted with a similar problem.

Makiko: We all must take into account how to deal with aging societies.

George:
⑵

You can say that again.
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問1 空所（ 1 ）に入れるのに最も適切なものを，次のａ～ｄから一つ選び，記

号で答えなさい。 12

ａ What do you want to assert?

ｂ What would you like to know?

ｃ How are you feeling today?

ｄ How do you intend to study Japanese?

問2 空所（ 2 ）に入れるのに最も適切なものを，次のａ～ｄから一つ選び，記

号で答えなさい。 13

ａ How do you know?

ｂ How long do they sleep?

ｃ What time do they go to sleep?

ｄ Is it true?

問3 空所（ 3 ）に入れるのに最も適切なものを，次のａ～ｄから一つ選び，記

号で答えなさい。 14

ａ But the trains come and go every five minutes or so in big cities.

ｂ But the trains are sometimes full, and you cannot get on the trains.

ｃ A great number of people use train stations in big cities.

ｄ You have to take trains many times a day in big cities.

問4 空所（ 4 ）に入れるのに最も適切なものを，次のａ～ｄから一つ選び，記

号で答えなさい。 15

ａ That is one of the big problems Japan faces.

ｂ We can solve the problem easily.

ｃ That is the least difficult problem.

ｄ It is not difficult to solve the problem.
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問5 下線部⑴とほぼ同じ内容を表すものを，次のａ～ｄから一つ選び，記号で答

えなさい。 16

ａ the trains carry a lot of canned sardine products

ｂ the trains are full of people selling sardines

ｃ the trains are crowded with a lot of people

ｄ the trains smell of sardines people have got

問6 下線部⑵とほぼ同じ内容を表すものを，次のａ～ｄから一つ選び，記号で答

えなさい。 17

ａ You have to repeat what you said.

ｂ You should listen to me carefully.

ｃ I don’t agree with your behavior.

ｄ I agree with you completely.

問7 GeorgeとMakikoの対話の内容に一致するものを，次のａ～ｄから一つ選

び，記号で答えなさい。 18

ａ The Japanese population is around 125 million, which is Makiko’s

mistake.

ｂ Makiko is opposed to the idea that Japan is a densely-populated

country.

ｃ George recognizes that some nations in Europe are becoming aging

societies.

ｄ George clearly shows Makiko how to cope with the falling birth rate

in Japan and she is astonished.
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次頁につづく
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� 各問いに答えなさい。

問1 次の⑴～⑺の英文中の空所に入れるのに最も適切なものを，それぞれ下の

ａ～ｄから一つずつ選び，記号で答えなさい。

⑴ We are fed（ ）with this rainy season. 19

ａ over ｂ up

ｃ around ｄ down

⑵ The driver’s carelessness（ ）in the traffic accident. 20

ａ consisted ｂ engaged

ｃ resulted ｄ delivered

⑶ I’d like to express my deep appreciation to you（ ）my company.

21

ａ in case of ｂ on the tip of

ｃ in order of ｄ on behalf of

⑷ He has a tendency to（ ）on support from his rich family.

22

ａ escape ｂ count

ｃ make ｄ protect

⑸ The lecturer was able to get his idea（ ）to the audience.

23

ａ after ｂ along

ｃ across ｄ among
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⑹ That rock band really（ ）on during the late nineties. 24

ａ had ｂ made

ｃ caught ｄ put

⑺ I was feeling a little under the（ ）. 25

ａ matter ｂ comparison

ｃ box ｄ weather

問2 次の各文の下線部⒜～⒟で，間違っている部分が1箇所ずつあります。その

間違っている箇所の記号をそれぞれ答えなさい。

⑴ My dream is
⒜

to go to abroad as
⒝

an exchange student during
⒞

the

coming summer vacation
⒟

at university. 26

⑵
⒜

Almost students were
⒝

present at the meeting, though
⒞

a considerable

number of teachers were
⒟

absent. 27

問3 次のア，イの文の空所に入る共通する語を，下のａ～ｄから一つ選び，記号

で答えなさい。 28

ア Meg had a（ ）expression on her face.

イ Nancy is with a（ ）of accountants in Nottingham.

ａ clear ｂ thoughtful

ｃ firm ｄ degree

―12―



� 各問いに答えなさい。

問1 次の⑴～⑷について，与えられた日本文の意味になるように（ ）の中の

⒜～⒠を並べかえるとき，（ ）内で前から3番目にくるものとして最も適

切なものを，⒜～⒠から一つずつ選び，記号で答えなさい。文頭にくる語も小

文字にしています。

⑴ 私は冷蔵庫に残っているもので間に合わせなければならなかった。

29

I had （ ⒜ do ⒝ what ⒞ make ⒟ with ⒠ to ）

was left in the refrigerator.

⑵ トムは以前よりも暮らし向きがよい。 30

Tom is （ ⒜ off ⒝ than ⒞ better ⒟ used ⒠ he ）

to be.

⑶ 経験がないことを考慮に入れると，ベスはよくやったね。 31

（ ⒜ is ⒝ that ⒞ inexperienced ⒟ given ⒠ she ）,

Beth has done well.

⑷ そのようなことを言ったのは誰だったのか。 32

Who （ ⒜ was ⒝ said ⒞ such ⒟ that ⒠ it ） a

thing?
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問2 次の⑴～⑶について，与えられた日本文の意味になるように（ ）の中の

ア～カを並べかえるとき，（ ）内で前から3番目と5番目にくるものの組

み合わせとして最も適切なものを，それぞれ下のａ～ｄから一つずつ選び，記

号で答えなさい。文頭にくる語も小文字にしています。

（例） エ‐‐イ （前から3番目がエで，5番目がイを示す。）

⑴ ケンはやむを得ない事情で家を売った。 33

The （ ア of イ caused ウ force エ Ken オ to

カ circumstances ）sell his house.

ａ：オ‐‐ウ ｂ：ウ‐‐ア ｃ：ウ‐‐エ ｄ：カ‐‐エ

⑵ 私は彼のような政治家と話す共通の話題がない。 34

I have （ ア about イ nothing in ウ with エ common

オ talk カ to ）a politician like him.

ａ：イ‐‐ウ ｂ：イ‐‐エ ｃ：カ‐‐ア ｄ：カ‐‐ウ

⑶ 彼女の話し方は母親を思い出させる。 35

（ ア me イ of ウ reminds エ she オ speaks

カ the way ）her mother.

ａ：ウ‐‐オ ｂ：イ‐‐エ ｃ：オ‐‐ア ｄ：カ‐‐ウ
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4 解答は，解答用紙の解答欄にマークしなさい。マークはHB・Bの鉛筆（シャー

プペンシル可）で濃くマークしなさい。解答用紙を折ったり曲げたりしてはならな

い。

例えば 2 と表示のある問に対してｃと解答する場合は，次の（例）のよう

にマークシートの2の解答欄のｃにマークしなさい。

指定欄以外へマークした場合は解答が読み取れなくなる場合があるため，記入し

ないこと。訂正は，消しゴムできれいに消すこと。

解答
番号

解答欄
ａ ｂ ｃ ｄ ｅ

1 ａ ｂ ｃ ｄ ｅ

2 ａ ｂ ｃ ｄ ｅ

良い例 悪い例

（例） （マークの仕方）

5 試験終了後には，問題冊子の上に解答用紙を裏返して置きなさい。解答用紙の回

収後は監督者の指示に従うこと。

6 問題冊子は持ち帰ること。

注 意 事 項 続 き




